Grade 7 Design-Construction
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Truss Bridge Analysis Worksheet
Partners: ________________

              ________________

Live Load Capacity

=  # Bottles____ x 280 gm/bottle
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=          _________ grams

Weight of Bridge (Dead Load):
            ___________ grams
Efficiency= Live Load/Dead Load = ________

( typical values: 25 to 150)

Sketch the failure point of the bridge:
What specifically failed?  (i.e., pins pulled out, beams bent, etc)  --Do not just say” it broke in the middle”,etc.                                 

Why did it fail at this particular point?

How could you strengthen or improve the bridge?
